Monitor mount with gas spring

MMSISGS110BK | MMDOSGS110BK

t ned.is/mmsisgs110bk t ned.is/mmdosgs110bk

&2 (5}

=)

8



@ Guida rapida all’avvio 7
@ Guia de inicio rapido 7

Guia de iniciagao rapida

@ Snabbstartsguide 8

Vejledning til hurtig start

D

Gyors beiizemelési utmutato
@ Przewodnik Szybki start

08nyd¢ ypriyopng ekkivnong

Rychly navod

@ Rychly navod

glele|e(e|e

Ghid rapid de initiere

@ Pika-aloitusopas ]

Specifications

Product

Monitor mount with gas spring

Article number

MMSISGS110BK | MMDOSGS110BK

Max. monitor size

32"










MMSISGS110BK |
MMDOSGS110BK

Monitor mount with gas
spring

For more information see the extended manual online:
- ned.is/mmsisgs110bk ned.is/mmdosgs110bk

Intended use

This product is intended to mount a monitor to the side or back of
adesk.

The product is intended for indoor use only.

Any modification of the product may have consequences for safety,
warranty and proper functioning.

Main parts (image A)

1) Arm MMDOSGS110BK (8) Hexkey4 mm

(2) Arm MMSISGS110BK (9) Hexkey5mm
3) Washer (10 M4 x 12 mm bolt
4) Grommet plate (1) M6 x 12 mm bolt
(5) Bolt (12) M6 x 10 mm bolt
©) Deskclamp (13) Wing nut

7) Connection plate (14) Fixing plate

Safety instructions

FN WARNING

« Ensure you have fully read and understood the instructions in
this document before you install or use the product. Keep the
packaging and this document for future reference.

« Only use the product as described in this document.

« Do not use the product if a part is damaged or defective. Replace
a damaged or defective product immediately.

« Do not drop the product and avoid bumping.

« Place the product on a stable and flat surface.
« Do not overtighten the bolts. This will damage the product.

Installing the product (image B - F)
See image B for the two different mounting options.
(1) For desk clamp mounting (2) For grommet hole
mounting

Disposal

For more information, contact the retailer or

the local authority responsible for the waste
management.

The product is designated for separate collection at
an appropriate collection point. Do not dispose of
the product with household waste.

MMSISGS110BK |
MMDOSGS110BK

Monitorhalterung mit
Gasfeder
Weitere Informationen finden Sie in der erweiterten

=== Anleitung online: ned.is/mmsisgs110bk
ned.is/mmdosgs110bk

BestimmungsgemaBe Verwendung

Dieses Produkt ist zur Befestigung eines Monitors an der Seite oder
Ruickseite eines Schreibtisches gedacht.

Das Produkt ist nur zur Verwendung innerhalb von Gebauden
gedacht.

Jegliche Modifikation des Produkts kann Folgen fiir die Sicherheit,
Garantie und ordnungsgemaRe Funktionalitat haben.



Hauptbestandtelle (Abblldung A)

Arm MMDOSGS110BK Sechskantschliissel 4 mm
Arm MMSISGS110BK Sechskantschliissel 5 mm
Unterlegscheibe M4 x 12 mm Schraube
Durchfiihrungsplatte ) M6 X 12 mm Schraube
Schraube M6 x 10 mm Schraube

Tischklemme 3) Fligelmutter

Anschlussplatte (14) Befestigungsplatte

QEEE®

Sicherheitshinweise

FN WARNUNG

« Vergewissern Sie sich, dass Sie die Anweisungen in diesem
Dokument vollstandig gelesen und verstanden haben, bevor Sie
das Produkt installieren oder verwenden. Heben Sie die
Verpackung und dieses Dokument zum spateren Nachschlagen
auf.

« Verwenden Sie das Produkt nur wie in diesem Dokument
beschrieben.

« Verwenden Sie das Produkt nicht, wenn ein Teil beschadigt ist
oder es einen Mangel aufweist. Ersetzen Sie ein beschadigtes
oder defektes Produkt unverziiglich.

« Lassen Sie das Produkt nicht herunterfallen und vermeiden Sie
Kollisionen.

« Stellen Sie das Produkt auf eine stabile, ebene Oberflache.

« Ziehen Sie die Schrauben nicht zu fest an. Dadurch wird das
Produkt beschadigt.

Installation des Produkts (Abbildung B - F)
Beachten Sie Abbildung B fiir die zwei unterschiedlichen
Befestigungsmaglichkeiten.

(1) FirTischklemmmontage (2) Fir Durchfiihrungsloch-

montage

Entsorgung

Weitere Informationen erhalten Sie beim Verkaufer
oder der fiir die Abfallwirtschaft verantwortlichen
ortlichen Behorde.

Dieses Produkt muss an einer entsprechenden
Sammelstelle zur Entsorgung abgegeben

werden. Entsorgen Sie das Produkt nicht mit dem
Haushaltsabfall.

MMSISGS110BK |
MMDOSGS110BK

Support de moniteur avec
vérin a gaz

Pour plus d'informations, consultez le manuel détaillé en
- ligne: ned.is/mmsisgs110bk ned.is/mmdosgs110bk

Utilisation prévue

Ce produit est destiné a monter un moniteur sur le coté ou a l'arriére
d’un bureau.

Le produit est prévu pour un usage intérieur uniquement.

Toute modification du produit peut avoir des conséquences sur la
sécurité, la garantie et le bon fonctionnement.

P|eces principales (image A)

Bras MMDOSGS110BK (9) Clé hexagonale 5 mm
2) Bras MMSISGS110BK Boulon M4 x 12 mm
3) Rondelle Boulon M6 x 12 mm
(4) Plaque passe-fils Boulon M6 x 10 mm

Boulon Ecrou papillon

Pince de bureau
(7) Plague de connexion
8) Clé hexagonale 4 mm

(14) Plaque de fixation

Consignes de sécurité

ﬂ AVERTISSEMENT

« Assurez-vous d'avoir entiérement lu et compris les instructions
de ce document avant d'installer ou d'utiliser le produit.
Conservez I'emballage et le présent document pour référence
ultérieure.

Utilisez le produit uniquement comme décrit dans le présent
document.

« Ne pas utiliser le produit si une piéce est endommagée ou
défectueuse. Remplacez immédiatement un produit
endommagé ou défectueux.

« Ne pas laisser tomber le produit et éviter de le cogner.

« Placez le produit sur une surface stable et plane.

« Ne serrez pas les boulons excessivement. Cela endommagera le
produit.

Installer le produit (image B - F)
Voir I'image B pour les deux options de montage différentes.
(1) Pour montage surpincede  (2) Pour montage d’un trou
bureau passe-fils

Traitement des déchets

Pour plus d'informations, contactez le distributeur
ou l'autorité locale responsable de la gestion des
déchets.

Le produit doit étre jeté séparément des ordures
ménageéres dans un point de collecte approprié.
Ne jetez pas le produit avec les ordures ménageres
ordinaires.

MMSISGS110BK |
MMDOSGS110BK

Monitorarm met gasveer

Zie voor meer informatie de uitgebreide handleiding
online: ned.is/mmsisgs110bk ned.is/mmdosgs110bk

Bedoeld gebruik

Dit product is bedoeld om een monitor aan de zijkant of achterkant
van een bureau te monteren.

Het product is enkel bedoeld voor gebruik binnenshuis.

Elke wijziging van het product kan gevolgen hebben voor de
veiligheid, garantie en correcte werking.

Belangrijkste onderdelen (afbeelding A)
(1) Arm MMDOSGS110BK (8) Inbussleutel 4 mm
(2) Arm MMSISGS110BK 9) Inbussleutel 5 mm
(3) Sluitring 100 M4 x 12 mm-bout
(4) Doorvoerplaat 1) M6 x 12 mm-bout
(5) Bout 12) M6 x 10 mm-bout
(6) Bureauklem 13) Vleugelmoer

(7) Verbindingsplaat (14) Bevestigingsplaat

Veiligheidsvoorschriften

N WAARSCHUWING

« Zorg ervoor dat u de instructies in dit document volledig gelezen
en begrepen heeft voordat u het product installeert of gebruikt.
Bewaar de verpakking en dit document voor toekomstig gebruik.

« Gebruik het product alleen zoals in dit document beschreven.

« Gebruik het product niet als een onderdeel beschadigd of defect
is. Vervang een beschadigd of defect product onmiddellijk.

« Laat het product niet vallen en voorkom stoten.

« Plaats het product op een stabiele en vlakke ondergrond.

« Draai de bouten niet te vast. Dit zal het product beschadigen.



Het product installeren (afbeelding B - F)
Zie afbeelding B voor de twee verschillende
montagemogelijkheden.

(1) Voor montage met een (2) Voor montage met een
bureauklem doorvoergat
Afdanking

Neem voor meer informatie contact op met

de detailhandelaar of de lokale overheid die
verantwoordelijk is voor het afvalbeheer.

Het product is bestemd voor gescheiden inzameling
bij een hiertoe aangewezen verzamelpunt. Werp het
product niet weg bij het huishoudelijk afval.

MMSISGS110BK |
MMDOSGS110BK

Supporto per monitor con
molla a gas

- Per maggiori informazioni vedere il manuale esteso
online: ned.is/mmsisgs110bk ned.is/mmdosgs110bk

Uso previsto

Il prodotto & inteso per fissare un monitor al lato o sul retro di una
scrivania.

Il prodotto € inteso solo per utilizzo in interni.

Eventuali modifiche al prodotto possono comportare conseguenze
per la sicurezza, la garanzia e il corretto funzionamento.

Parti principali (immagine A)

1) Braccio MMDOSGS110BK (8) Chiave esagonale 4 mm
(2) Braccio MMSISGS110BK (9) Chiave esagonale 5 mm
3) Rondella (100 Bullone M4 x 12 mm
4) Piastra passacavi ) Bullone M6 x 12 mm
(5) Bullone Bullone M6 x 10 mm
6) Morsetto da scrivania Dado a farfalla
7) Piastra di collegamento Piastra di fissaggio

Istruzioni di sicurezza

N ATTENZIONE

« Assicurarsi di aver letto e compreso pienamente le istruzioni

presenti nel documento prima di installare o utilizzare il prodotto.

Conservare la confezione e il presente documento per farvi

riferimento in futuro.

Utilizzare il prodotto solo come descritto nel presente

documento.

« Non utilizzare il prodotto se una parte & danneggiata o difettosa.
Sostituire immediatamente un prodotto danneggiato o difettoso.

« Non far cadere il prodotto ed evitare impatti.

« Posizionare il prodotto su una superficie piana e stabile.

« Non avvitare eccessivamente i bulloni. Il prodotto potrebbe
danneggiarsi.

Installazione del prodotto (immagine B - F)
Vedere I'immagine B per le due diverse opzioni di montaggio.

(1) Peril montaggio sul (2) Peril montaggio sul foro
morsetto della scrivania passacavi

Smaltimento

Per maggiori informazioni, contattare il rivenditore
o le autorita locali responsabili per la gestione dei
rifiuti.

Questo prodotto & soggetto a raccolta differenziata
nei punti di raccolta appropriati. Non smaltire il
prodotto con i rifiuti domestici.

MMSISGS110BK |
MMDOSGS110BK

Soporte de monitor con
resorte de gas

- Para mas informacion, consulte el manual ampliado en
linea: ned.is/mmsisgs110bk ned.is/mmdosgs110bk

Uso previsto por el fabricante

Este producto esta disefiado para montar un monitor en el lateral o
en la parte posterior de un escritorio.

El producto esta disefiado Unicamente para uso en interiores.
Cualquier modificacion del producto puede tener consecuencias
para la seguridad, la garantia y el funcionamiento adecuado.

Partes principales (imagen A)

(1) Brazo MMDOSGS110BK 8) Llave hexagonal 4 mm
(2) Brazo MMSISGS110BK 9) Llave hexagonal 5 mm
(3) Arandela (10) Perno M4 x 12 mm

/i, Placa pasacables 1'1/ Perno M6 x 12 mm

(5) Perno 12) Perno M6 x 10 mm

(6) Abrazadera de escritorio (13) Tuerca de mariposa

( /', Placa de conexién 1'4/ Placa de fijacion

Instrucciones de seguridad

PN ADVERTENCIA

« Asegurese de que ha leido y entendido completamente las

instrucciones en este documento antes de instalar o utilizar el

producto. Guarde el embalaje y este documento para futuras
consultas.

Utilice el producto Unicamente tal como se describe en este

documento.

« No use el producto si alguna pieza esta danada o presenta
defectos. Sustituya inmediatamente un producto si presenta
darios o esta defectuoso.

« No deje caer el producto y evite que sufra golpes.

« Coloque el producto en una superficie estable y plana.

« No apriete los pernos en exceso. Se puede dafar el producto.

Como instalar el producto (imagen B - F)
Véase la imagen B para ver las dos opciones de montaje
diferentes.
(1) Para montaje con (2) Para montaje en orificio
abrazadera de escritorio pasacables

Eliminacion

Para obtener mas informacion, péngase en contacto
con el vendedor o la autoridad local responsable de
la eliminacion de residuos.

El producto esté disefiado para desecharlo por
separado en un punto de recogida adecuado. No se
deshaga del producto con la basura doméstica.

MMSISGS110BK |
MMDOSGS110BK

Suporte de monitor com
mola a gas

Para mais informacoes, consulte a versao alargada
=== domanual on-line: ned.is/mmsisgs110bk
ned.is/mmdosgs110bk

Utilizacado prevista

Este produto destina-se a servir de suporte para um monitor ao lado
ou atras de uma secretéria.

O produto destina-se apenas a utilizagdo em interiores.

Qualquer alteragao do produto pode ter consequéncias em termos
de seguranga, garantia e funcionamento adequado.



Peg:as principais (imagem A)

Brago MMDOSGS110BK Chave sextavada 4 mm
Brago MMSISGS110BK Chave sextavada 5 mm
(3) Anilha Parafuso M4 x 12 mm
4 Placa com ilhés Parafuso M6 x 12 mm
5) Parafuso Parafuso M6 x 10 mm
(6) Grampo de secretéria 3) Parafuso de orelhas
7) Placa de ligagao (14) Placa de fixagao

Instrucoes de seguranga

N aviso

« Certifique-se de que leu e compreendeu as instru¢des deste

documento na integra antes de instalar ou utilizar o produto.

Guarde a embalagem e este documento para referéncia futura.

Utilize o produto apenas conforme descrito neste documento.

« Nao utilize o produto caso uma pega esteja danificada ou
defeituosa. Substitua imediatamente um produto danificado ou
defeituoso.

« Nao deixe cair o produto e evite impactos.

« Coloque o produto sobre uma superficie estavel e plana.

« Nao aperte demasiado os parafusos. Caso contrario, podera
danificar o produto.

Instalagao do produto (imagem B - F)

) Verimagem B com as duas opgées de fixagao diferentes.

1) Paramontagem em grampo (2) Para montagem em placa
de secretéria deilhos

Eliminacao

Para obter mais informagdes, contacte o revendedor
ou o organismo local responsavel pela gestdo de
residuos.

O produto deve ser eliminado separadamente num
ponto de recolha apropriado. N&o elimine este
produto juntamente com o lixo doméstico.

MMSISGS110BK |
MMDOSGS110BK

Skarmstall med gasfjader

For ytterligare information, se den utékade manualen
e online: ned.is/mmsisgs110bk ned.is/mmdosgs110bk

Avsedd anviandning

Denna produkt dr avsedd for montering pa skrivbordets sida eller
bakre del.

Denna produkt &r endast avsedd fér anvandning inomhus.
Modifiering av produkten kan medféra konsekvenser for sdkerhet,
garanti och korrekt funktion.

Huvuddelar (bild A)

Arm MMDOSGS110BK Sexkantnyckel 4 mm
Arm MMSISGS110BK Sexkantnyckel 5 mm
Bricka M4 x 12 mm bult
Oljetplatta ) M6 x 12 mm bult
Skruv 2) M6 x 10 mm bult

5 Bordslampa
(7) Kopplingsplatta

Vingmutter
(14) Fastplatta

Sakerhetsanvisningar

FN VARNING

« Sakerstéll att du har last och forstatt alla instruktioner i detta
dokument innan du installerar och anvander produkten. Behall
forpackningen och detta dokument som framtida referens.

« Anvénd produkten endast enligt anvisningarna i detta
dokument.

« Anvénd inte produkten om en del &r skadad eller defekt. Byt
omedelbart ut en skadad eller defekt produkt.

« Tappa inte produkten och skydda den mot slag.

« Placera produkten pé en stabil och plan yta.

Dra inte at bultarna for hart. Det kommer att skada produkten.

Installera produkten (bild B - F)
Se bild B for att se de tva olika monteringsalternativen.
(1) Foér skrivbordsmontering 2) For dljethdlmontering
med kldmma

Bortskaffning

For mer information, kontakta aterforsaljaren eller
lokal myndighet med ansvar for avfallshantering.
Produkten &r avsedd for separat insamling vid

en lamplig atervinningscentral. Sldng inte denna
produkt bland vanligt hushallsavfall.

MMSISGST10BK |
MMDOSGS110BK

Nayttoteline kaasujousella

Katso tarkemmat tiedot kdyttooppaan laajemmasta
- Verkkoversiosta: ned.is/mmsisgs110bk
ned.is/mmdosgs110bk

Kayttotarkoitus

Tama tuote on tarkoitettu ndyton kiinnittamiseen kirjoituspdydén
sivuun tai taakse.

Tuote on tarkoitettu vain sisakadyttoon.

Tuotteen muutokset voivat vaikuttaa turvallisuuteen, takuuseen ja
asianmukaiseen toimintaan.

Tarkeimmat osat (kuva A)

j, Varsi MMDOSGS110BK 8) Kuusiokoloavain 4 mm
(2) Varsi MMSISGS110BK 9) Kuusiokoloavain 5 mm
(3) Aluslevy (10) Pultti M4 x 12 mm

(4) Lapivientilevy 1) Pultti M6 x 12 mm

(5) Pultti 12) PulttiM6 x 10 mm

(6) Poytakiinnike (13) Siipimutteri

(7) Liitoslevy 14) Kiinnityslevy
Turvallisuusohjeet

IN vArOITUS

« Huolehdisiitd, ettd olet lukenut ja ymmartanyt tamén asiakirjan
sisaltamat ohjeet kokonaan ennen kuin asennat tuotteen tai
kaytat sitd. Sailyta pakkaus ja tama asiakirja tulevaa tarvetta
varten.

« Kéyta tuotetta vain tassa asiakirjassa kuvatun mukaisesti.

- Al3 kdyta tuotetta, jos jokin sen osa on vaurioitunut tai viallinen.
Vaihda vahingoittunut tai viallinen tuote valittomasti.

« Varo pudottamasta ja tondisemasta tuotetta.

« Aseta tuote vakaalle ja tasaiselle alustalle.

« Al3 kirista pultteja liikaa. Se vahingoittaa tuotetta.

Tuotteen asentaminen (kuva B - F)
Katso kuvasta B kaksi erilaista kiinnitysvaihtoehtoa.
(1) Kiinnitys pdytakiinnikkeelld ~ (2) Kiinnitys lapiviennin aukon
kautta

Jatehuolto
Lisatietoja antaa jélleenmyyja tai paikallinen
jatehuollosta vastaava viranomainen.
Tama tuote tulee toimittaa havitettavéksi
asianmukaiseen kerdyspisteeseen. Tuotetta ei saa
I havittaa kotitalousjatteen mukana.



MMSISGS110BK |
MMDOSGS110BK

Skjermfeste med gassfjeer

- For mer informasjon, se den fullstendige

== bruksanvisningen pa nett: ned.is/mmsisgs110bk
ned.is/mmdosgs110bk

Tiltenkt bruk

Dette produktet er tiltenkt brukt til a feste en skjerm til siden eller

baksiden av et skrivebord.

Produkter er bare tiltenkt innenders bruk.

Eventuelle modifikasjoner av produktet kan ha konsekvenser for

sikkerhet, garanti og funksjon.

Hoveddeler (bilde A)

1) Arm MMDOSGS110BK (8) Sekskantngkkel 4 mm
2) Arm MMSISGS110BK (9) Sekskantngkkel 5 mm
(3) Underlagsskive (10) M4 x 12 mm skrue

4) Kabelgjennomfering (1) M6 x 12 mm skrue

5) Bolt (12) M6 x 10 mm skrue
(6) Skrivebordsklemme 13) Vingemutter

7) Koblingsplate (14) Festeplate

Sikkerhetsinstruksjoner

FN ADVARSEL

« Serg for at du har lest og forstatt instruksjonene i dette
dokumentet fgr du installerer eller bruker produktet. Ta vare pa
emballasjen og dette dokumentet for fremtidig referanse.

« Produktet skal kun brukes som beskrevet i dette dokumentet.

« lkke bruk produktet hvis det er skadet eller defekt. Bytt ut et
skadet eller defekt produkt med det samme.

« Ikke mist produktet, og forhindre at det slas borti andre
gjenstander.

« Sett produktet pa en stabil og flat overflate.

« Stram ikke boylene for mye. Dette vil skade produktet.

Installasjon av produktet (bilde B - F)
Pa bilde B ser du de to festemulighetene.
(1) Til feste med (2) Tilfeste via
skrivebordsklemme kabelgjennomfering

Kassering

Ta kontakt med leverandgren eller lokale
myndigheter hvis du gnsker mer informasjon om
avhending.

Produktet ma avhendes pa egnede
oppsamlingssteder. Du mé ikke avhende produktet
som husholdningsavfall.

MMSISGS110BK |
MMDOSGS110BK

Monitormontering med
gasfjeder

Yderligere oplysninger findes i den udvidede manual
= online: ned.is/mmsisgs110bk ned.is/mmdosgs110bk

Tilsigtet brug

Dette produkt er beregnet til at montere en skaerm pa siden eller
bagsiden af et skrivebord.

Produktet er kun beregnet til indenders brug.

Enhver modificering af produktet kan have konsekvenser for
sikkerhed, garanti og korrekt funktion.

Hoveddele (billede A)

(1) Arm MMDOSGS110BK 8) Umbrakonggle 4 mm
(2) Arm MMSISGS110BK 9) Umbrakonegle 5 mm
(3) Speendeskive 100 M4 x 12 mm motrik
(4) Ringplade 1) M6 x 12 mm matrik
(5) Bolt 12) M6 x 10 mm metrik
(6) Bordklemme (13) Vingematrik

(7) Forbindelsesplade 14) Fikseringsplade

Sikkerhedsinstruktioner

PN ADVARSEL

« Serg for, at du har laest og forstéet instruktionerne i dette
dokument fuldt ud, fer du installerer eller bruger produktet. Gem
emballagen og dette dokument, sa det sidenhen kan laeses.

« Anvend kun produktet som beskrevet i denne vejledning.

« Brug ikke produktet, hvis det er skadet eller defekt. Udskift straks
et skadet eller defekt produkt.

« Tab ikke produktet og undgé at stede det.

« Placer produktet pa en stabil og flad overflade.

« Overstram ikke boltene. Dette vil beskadige produktet.

Installation af produktet (billede B - F)
Se billede B for de to forskellige monteringsmuligheder.
(1) For montering med 2) For montering med skivehul
bordklemme

Bortskaffelse

For mere information, kontakt forhandleren eller
den lokale myndighed der er ansvarlig for kontrol
af affald.

Produktet skal afleveres pa et passende
indsamlingspunkt. Bortskaf ikke produktet sammen
med husholdningsaffald.

MMSISGS110BK |
MMDOSGS110BK

Gazrugds monitorallvany

Tovébbi informacioért lasd a bévitett online kézikonyvet:
- hed.is/mmsisgs110bk ned.is/mmdosgs110bk

Tervezett felhasznalas

Ez a termék egy monitornak az asztal oldalara vagy hatuljara vald
régzitésére szolgal.

A termék beltéri hasznalatra készult.

A termék barmilyen médositasa befolyasolhatja a biztonsagot, a
jotéllast és a megfelelé mikodést.

F6 alkatrészek (A kép)

(1) Kar MMDOSGS110BK ké/ 4 mm-es imbuszkulcs
(2) Kar MMSISGS110BK 9) 5 mm-esimbuszkulcs
(3) Alatét 100 M4 x 12 mm-es csavar
/i, Alatétgydrd 1'1/ M6 x 12 mm-es csavar
(5) Csavar 12) M6 x 10 mm-es csavar
(6) Asztali csipesz (13) Szarnyasanya

( /', Csatlakozdlemez 1'4/ Rogzitélemez

Biztonsagi utasitasok

m FIGYELMEZTETES

« Ugyeljen arra, hogy a termék telepitése vagy hasznalata el6tt
figyelmesen elolvasta és megértette az ebben a
dokumentumban talalhaté informaciokat. Tartsa meg a
csomagolast és ezt a dokumentumot késébbi hasznélatra.

» Aterméket csak az ebben a dokumentumban leirt modon
hasznalja.

« Ne hasznélja a terméket, ha valamelyik része sériilt vagy hibas. A
sériilt vagy meghibasodott terméket azonnal cserélje ki.



« Neejtse le a terméket és keriilje az (it6dést.
« Helyezze a terméket stabil és sik fellletre.
« Ne huzza tul szorosra a csavarokat. Ezzel kdrosithatja a terméket.

A termék beiizemelése (B - F kép)
A két kulonboz6 rogzitési lehetdséget lasd a B képen.
(1) Asztali bilincses régzitéshez  (2) Furaton keresztiili
régzitéshez

Artalmatlanitas

Tovébbi informacidért Iépjen kapcsolatba a
forgalmazoéval, vagy a hulladékkezelésért felelés
helyi hatésaggal.

A terméket elkiilonitve, a megfeleld gyujtéhelyeken
kell leselejtezni. Ne dobja ki a késziiléket a haztartasi
hulladék kozé.

MMSISGS110BK |
MMDOSGS110BK

Uchwyt do monitora ze
sprezyna gazowa
Wiecej informacji znajdziesz w rozszerzonej

instrukgji obstugi online: ned.is/mmsisgs110bk
ned.is/mmdosgs110bk

Przeznaczenie

Ten produkt jest przeznaczony do montazu monitora z boku lub z
tytu biurka.

Produkt jest przeznaczony wyfacznie do uzytku wewnatrz
pomieszczen.

Wszelkie modyfikacje produktu moga mie¢ wptyw na
bezpieczenstwo, gwarancje i dziatanie.

Giowne czedci (ilustracja A)
Ramie MMDOSGS110BK (8) Kluczimbusowy 4 mm

'7\ Ramie MMSISGS110BK Klucz imbusowy 5 mm
(3) Podkfadka Sruba M4 x 12 mm

/‘ Plyta przelotowa Sruba M6 x 12 mm

5) Sruba Sruba M6 x 10 mm

(6) Zacisk biurkowy (13) Nakretka motylkowa
7) Plytataczaca (14) Plyta mocujaca

Instrukcje bezpieczenstwa

FN OSTRZEZENIE

« Przed zainstalowaniem lub uzyciem produktu nalezy upewnic¢
sie, ze instrukcje zawarte w niniejszym dokumencie zostaty w
petni przeczytane i zrozumiane. Opakowanie oraz niniejszy
dokument nalezy zachowa¢ na przysztos¢.

« Produktu nalezy uzywac wytacznie w sposéb opisany w
niniejszym dokumencie.

« Nie uzywaj produktu, jesli jakakolwiek jego cze$¢ jest zniszczona
lub uszkodzona. Natychmiast wymien uszkodzony lub wadliwy
produkt.

« Nie upuszczaj produktu i unikaj uderzania go.

« Produkt nalezy ustawi¢ na stabilnej i réwnej powierzchni.

« Nie dokrecaj $rub zbyt mocno. Moze to spowodowac
uszkodzenie produktu.

Instalowanie produktu (llustracja B - F)
Na ilustracji B przedstawiono dwie r6zne opcje montazu.
(1) Montaz na zacisku (2) Montaz z wykorzystaniem
biurkowym przelotki

Utylizacja

Aby uzyska¢ wiecej informacji, nalezy skontaktowac
sie ze sprzedawcg lub lokalnym urzedem
odpowiedzialnym zagospodarke odpadami.
Produkt jest przeznaczony do oddzielnej zbiérki

w odpowiednim punkcie odbioru. Nie nalezy
pozbywac sie produktu razem z odpadami
gospodarstwa domowego.

MMSISGS110BK |
MMDOSGS110BK

Bdon 00dvn¢ pe ehatniplo
agpiov

TNa mePIocOTEPES MANPOPOPIEC SeiTe TO eKTEVEG
online gyxelpidio: ned.is/mmsisgs110bk
ned.is/mmdosgs110bk

Mpoopi{épevn xprion

To mpoidv autd mpoopiletat yia Ty tonobétnon piag 08évng otnv
TAGyla 1y TV TTiow TMAEUPA eVOG Ypageiou.

To mpoidv autd mpoopileTal AMOKAEICTIKA yIo ECWTEPIKO XWPO.
OmoladrTOTE TPOTTIOTIOINGN TOU TTPOIOVTOG UITOPE( VA EXEL EMMTTWOELG
oTNV AoPAMELD, TNV £yyUNoN Kal TN owoTH A&ttoupyia.

Kupwl Hépn (eikova A) )
(1) Bpayxiovac MMDOSGS110BK  (8)
/7“ Bpaxiovac MMSISGS110BK  (9)
PoSéha (10
Aiokog pe SakTOMo 1)
OTEPEWONG 12)
Bida (13)
(6) Xewykmpagypageiov 14)
(7) Aiokog oUvSeong

K\eidi dhev 4 mm
Khedi ahev 5 mm
M4 x 12 mm Bida
M6 x 12 mm Bida
M6 x 10 mm Bida
MNetalovda
Aiokog oTepEéwong

DD

) (o)

08nyisg acpaleiag

m MPOEIAOMOIHZH

« BeBawwBeite OTI £xeTe SLAPACEL KAl KATAVOROEL QUTEG TIG 08NYiEg
TIPIV EYKATACTHOETE I} XPNOIUOTIOI|CETE TO TIPOIdV. Kpathote tn
OGUOKELOOIO Kal TO KEIMEVO VIO HEANOVTIKT) avapopd.

«  XPNOIPOTIOLEITE TO TTPOIOV HOVO GUHPWVA HE AUTO TO £yypago.
« Mnv XpNOIUOTIOIEITE TO TIPOIOV EAV OTIOIOSHTTOTE TUAMA TOU €XEL
{nud ry ENATTWHA. AVTIKOTOOTAOTE AUECWE €va XOAAOHEVO 1

ENATTWHATIKO TIPOIOV.
«  Mnv pixVeTE KATW TO TIPOIOV KAl ATTOPUYETE TA TPAVTAYHATA.
« TomoBeTioTE TO MPOIOV O€ pia 0TaBePr) Kat EMimedn em@avela.
«  Mnv ogiyyete umepBolika Tig Bideg. Autod Ba mpokahéoel {nuid
GTO TIPOIOV.

Eykatraotaon tou mpoiovtog (sikova B - F)
Agite TV elkdva B yla Ti¢ SVo emoyég TomoBétnong.

(1) TatomoBétnon ue 2) TiaTonmoBétnon pe SakTuAlo
OPIYKTHPa ypageiou oTEPEWONG
Anéppupn

Ma mepPIocATEPEG MANPOPOPIES ETMKOIVWVIOTE HE
TOV QVTITPOOWTTO 0AG 1 TIG TOTTIKEG apxEG Slaxeiplong
amoBARTwWv.

To mpoi6v mpoopiletat yia EexwpLoTr) GUANOYH OE
KATAAANAO onpeio GUAoOYNG. Mnv amoppinTeTe To
TPOI6V padi e Ta OIKIakd amdBAnTa.



Drziak monitora s plynovou  MMSISGST108K]|
pruzinou MMDOSGS110BK
- Viac informécii najdete v rozirenom navode

online:ned.is/mmsisgs110bk ned.is/mmdosgs110bk

Urcené pouzitie

Tento vyrobok je uréeny na montaz monitora na bo¢nu alebo zadnu
cast pracovného stola.

Vyrobok je uréeny len na poutzitie vo vnutri.

Kazda zmena vyrobku moéze mat nasledky na bezpe¢nost, zaruku a
spravne fungovanie.

Hlavné ¢asti (obrazok A)
1) Rameno MMDOSGS110BK (®
2) Rameno MMSISGS110BK ©
(3) Podlozka (
4) Prechodova upeviiovacia
doska

Skrutka

6) Stolova svorka

7) Spojovacia doska

Sesthranny klt¢ 4 mm
Sesthranny kla¢ 5 mm
Skrutka M4 x 12 mm
Skrutka M6 x 12 mm
Skrutka M6 x 10 mm
Kridlova matica
Upeviiovacia doska

)@

Bezpecnostné pokyny

FN VAROVANIE

« Pred in3talaciou alebo pouzitim vyrobku si nezabudnite pre¢itat
a pochopit vietky pokyny v tomto dokumente. Uchovajte obal a
tento dokument pre potreby v budtcnosti.

« Vyrobok pouzivajte len podla opisu v tomto dokumente.

« Vyrobok nepouzivajte, ak je jeho ¢ast poskodend alebo chybna.
Poskodeny alebo chybny vyrobok okamzite vymerite.

« Davajte pozor, aby vam vyrobok nepadol a zabrarte narazom.

« Vyrobok poloZte na stabilny a rovny povrch.

« Nepritahujte skrutky nad inosnu mieru. Mohol by sa tym
poskodit vyrobok.

Instalacia vyrobku (obrazok B - F)
1 Pozrite si obrazok B ohladom dvoch réznych moznosti montéaze.
1) Montéz pomocou svorky na  (2) Montaz pomocou
pracovny stél prechodového otvoru

Likvidacia
Dalsie informécie ziskate od predajcu alebo
miestneho tradu zodpovedného za nakladanie s
odpadmi.
Tento vyrobok je ur¢eny na separovany zber na
| ] vhodnom zbernom mieste. Vyrobok nelikvidujte

spolu s komunalnym odpadom.

Drzak na monitor s plynovou MMSISGST108K]|
pruzinou MMDOSGS110BK

Vice informaci najdete v rozsitené pfirucce online:
ned.is/mmsisgs110bk ned.is/mmdosgs110bk

—
Zamyslené pouziti

Tento vyrobek je ur¢en k montazi monitoru na bo¢ni nebo zadni
stranu stolu.

Tento vyrobek je urcen vyhradné k poutziti ve vnitinich prostorach.
Jakékoli Upravy vyrobku mohou ovlivnit jeho bezpec¢nost, zaruku a
spravné fungovani.

Hlavni ¢asti (obrazek A)

Rameno MMDOSGS110BK 8) Imbusovy kli¢ 4 mm

i

(2) Rameno MMSISGS110BK 9) Imbusovy kli¢ 5 mm
(3) Podlozka 10) Sroub M4 x 12 mm
(4) Desti¢ka s prichodkou 1) Sroub M6 x 12 mm
(5) Sroub 12) Sroub M6 x 10 mm
(6) Svorka na stdl (13) Kridlova matice

(7) Spojovaci destitka 14) Upeviiovaci desti¢ka
Bezpecnostni pokyny
PN VAROVANI

« Pred instalaci ¢i pouzivanim vyrobku si nejprve kompletné
prectéte pokyny obsazené v tomto dokumentu a ujistéte se, ze
jim rozumite. Tento dokument a baleni uschovejte pro piipadné
budouci pouziti.

Vyrobek pouzivejte pouze tak, jak je popsano v tomto
dokumentu.

« Vyrobek nepouzivejte, pokud je jakakoli ¢ast poskozena nebo
vadna. Poskozeny nebo vadny vyrobek okamzité vymérte.
Zabranite padu vyrobku a chrarite jej pred narazy.

+ Umistéte vyrobek na stabilni a rovny povrch.

Neutahujte pili§ velkou silou. Mohlo by dojit k poskozeni
vyrobku.

Instalace vyrobku (obrazek B - F)
Dvé rlizné moznosti montéze najdete na obrazku B.

(1) Montaz pomoci svorky na
desku stolu

Likvidace

)

Montaz do priichoziho
otvoru

Pro vice informaci se obratte na prodejce nebo
mistni organy odpovédné za nakladani s odpady.
Likvidaci tohoto produktu provadéjte v pfislusné
sbérné. Nevyhazujte tento vyrobek s komundlnim

odpadem.

Suport pentru monitor cu arc MMSISGST108K]|

pe gaz

Utilizare preconizata

MMDOSGS110BK

Pentru informatii suplimentare, consultati manualul
extins, disponibil online: ned.is/mmsisgs110bk
ned.is/mmdosgs110bk

Acest produs este proiectat pentru a monta un monitor pe partea

laterala sau din spate a unui birou.

Produsul este destinat exclusiv pentru utilizare in interior.
Orice modificare a produsului poate avea consecinte pentru
siguranta, garantia si functionarea corectd a produsului.

Piese principale (imagine A)

(1) Brat MMDOSGS110BK 8) Cheie hexagonala 4 mm
(2) Brat MMSISGS110BK 9) Cheie hexagonald 5 mm
(3) Saiba (10) Bolt M4 x 12 mm

/i, Placa de trecere cablu 1'1/ Bolt M6 x 12 mm

(5) Surub 12) Bolt M6 x 10 mm

(6) Clema de birou (13) Piulita fluture

( /', Placa de conectare 1'4/ Placa de fixare

Instructiuni de siguranta

PN AVERTISMENT

« Asigurati-va ca ati citit complet si ca ati inteles instructiunile din
acest document inainte de a instala sau utiliza produsul. Pastrati
ambalajul si acest document pentru a le consulta ulterior.

« Folositi produsul exclusiv conform descrierii din acest document.



« Nu folositi produsul daca o piesa este deteriorata sau defecta.
Inlocuiti imediat produsul deteriorat sau defect.

« Nu lasati produsul s& cada si evitati ciocnirile elastice.

« Asezati produsul pe o suprafata stabila si plana.

« Nustrangeti excesiv piulitele. Daca procedati astfel, veti deteriora
produsul.

Instalarea produsului (imagine B - F)
Consultati imaginea B pentru a vedea cele doua optiuni diferite

de montare.
Pentru montare cu clema (2) Pentru montare cu trecere

birou cablu

Pentru mai multe informatii, contactati magazinul
sau autoritatea locald responsabila pentru
gestionarea deseurilor.

Produsul a fost creat pentru colectare separata la un
punct de colectare adecvat. Nu eliminati produsul
odata cu deseurile menajere.












Nedis BV
Reitscheweg 1, 5232 BX 's-Hertogenbosch,
the Netherlands - service@nedis.com



